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3. 2 18] AABCOIA AE = BE =
AB=12,BD=8, CD=1¥ uf, AC2] Z9]

@D 9cm @ 10cm 3 11lcm @ 12cm 3 13 cm
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®1:3 ® 2:3 @ 2:5
@ 5-9 ®3 5-11



® 2cm 3 3cm @ 4cm B 5cm
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o} 1" A /BAD = /CBE = /ACF 9]
3, AB = 7em,BC = 8em,CA = 9em ¥
o, DE : EF &7

®7:9 @ 7:8 ® 8:9

@® 9:8 B 9-7
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t}&oA AE: EB = AP : PC = DF : FC &
3, /APF + (EPC ©] 7]

@® 260° @ 261° @ 262°
@ 263° 3 264°







12. o3 O34 aAABCADFE |t DES DF Q] ZolE 4, bE
ARgRE Ao 2 vebd A7 (T, LA =/D, /B=/F)

® DE = g(cm), DF = & (cm)
@ DE = b(em), DF = g(cm)
® DE = g(cm), DF = a(cm)
@ DE = b(cm), DF = a(cm)

® DE = 2b(cm), DF = 2a(cm)
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15. o5 293 Zo] /BAD = £/CAD = 45° & ©f, AABD 9] Ho]=?

@ 80cm? @ 90cm? @ 40cm?

@ 45cm? ® Ech



16. & 199 AABC oA /CAD = /EAD = 60°, AB =

CD = 10cm, AD = 15cm € o], AC &} Zo]&=9

24
@ 6cm @ 5cm ® —cm
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@ —56m ® —Ocm
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® /ADC @ /EBC ® /BAC

@ /BDC ® /ABE



18. o3 I29HolA 1A =30°Y W], /BFD 2] Z7]¢}t 277} -2

A
D~E
B —C
® 55°, LADC ® 50°, LEBC ® 65°, /BAC

@ 60°, /BDC ® 70°, /ABE



19. o3 AtthE]E ABCD oA AD =
4cm, BC = 8cm ©|th. AD 9] dAA 919
A E o tiste] BE7F nABCD 2] Hol&
ol5=< i, DE ] Zo]& 5tH?




20. TS O"HA AE: EB = 3 : 2, AF :
FC=4:5°|tt. BC = 14cm ¢ o, BD
o] 70| F31?
@ 10cm @ 12cm ® 14cm

@ 16cm ® 18cm
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